CbBUPAHE HA 6 C EAHOLIM(PPEHO YN CAO C ITIPEMMHABAHE

n ChbeTaBM TEKCTOBA 3a/1a49a 10 KapTHHATA.

Konko obmo ca geuara?

Jla cm mpunoMHauM!

6+ =10

S5=4:F

10+1=

6+5=7 —w+l 10+1=11

645 :::::o w101 :ooooooooo
B+ . = 7

: N

N+ =10+ 1 = 6+5=
N
E P00 P®
B+ . = 7

: A0

6 +4+2 = - = 6+6=
e

I

5+46=1 6+6="

7N /X
1+4+6=1+10= 2+44+6=2+10=
St T
S+6= 6t+6=

0+6EM9+7 6+7HE17-7 20-3FM6+8 3+12 19-4
=>_<>

ZaLIVEWORKSHEETS



D [ O e D [ R

36—
%__

) 10 11 12 13 14 15 16 17 1B 19 20

ZaLIVEWORKSHEETS



